333 —
—
~
A6 \vﬁv AT NN @
Detail 1 =
\ﬁ 1420
— =
12 o® : B
| 25
g <
=3
- Ex
muwg @ 5 Detail 1 )
o £ o
=% a o
e Y Q «—
S < x
0 % ©
(o] o
59 © T.0.C.
W o 1 +40.770m
< % _ _
Q. - | | L
© _ _ S
- | | e
_ _ L] / N to be backfilled with concrete
_ _ > Sacrificial Thrust Block. 7 me_ﬂ;_%m_w_ MJMMM___wm_moH ’
- _ _ Designed & Installed by oﬁ:mmm y
L others See also E14307/GA/01 | Raking strut to have 15mm thk end
— _ N — — — — — plate with 6mm Fw cast into thrust
7 block as indicated.
= Sacrificial Thrust Block.
3 Designed & Installed by
others |ﬁ
N N N N N N N Scale 1:100
|
. - RC Capping
o Underside CFA Piling Platform = +11.850m (Cant) Beam wo X ao_x Jaaaﬁ:x 700 x 750 x 15mm thk 508 x 12.5mm
3 . _ earing plate fixed to Bearing plate fixed to CHS
S Om:mﬂm._ mxo.m<m:o: Level = +10.770m (Propped | | capping beam. B capping beam.
Underside Pile Cap (Max) = +9.970m (Propped 2no off 2no off
1 ; —
\m R A RC Capping
e . Beam
, 3noM24 ~ ‘
7 w Grade 8.8 3no M24
bolts Grade 8.8
6no M24 bolts Grade 8.8 8mm Full Profile bolts
Detail 2 Min embedment 350mm 7 Fillet Weld to
7 O\<< 125 x 125 x 10mm mmm_.m:@ U_m._“m
— washers
o = /F
(=]
S l _ _ . _ . . _ _ _ _ _ _
= DETAIL 1 ELEVATION B-B
| Scale 1:50 Scale 1:50
r— 1
nl _
| _
i J
Approx 9.00mLong @ +————— -
| 508 x 12.5 CHS Raking Strut /
= Sacrificial Thrust Block. N RC Capping
Designed & Installed by Beam
| | others 4 /
7 //ﬂ/, 1400 x 700 x 15mm thk 610 x 12.0mm
Bearing plate fixed to CHS
See also E14307/GA/01 -/ C capping beam
d 6no off
8no M24 bolts Grade 8.8 7
o Min embedment 350mm |
m c/w 125 x 125 x 10mm L f B VOIS fRC Capping
washers off ): Beam
D> Vb o \\ - P . A
— — — — — B 8mm Full Profile
Fillet Weld to 4no M24
N Bearing plate Grade 8.8 4no M24
e bolts 8mm Full Profile cohmmm 8.8
N — 1 Fillet Weld to
1400 x 700 x 15mm thk Bearing plate
Bearing plate fixed to
capping beam.
6no off
- A DETAIL 2 ELEVATION C-C
o
3 Scale 1:50 Scale 1:50
I
_ _
Sacrificial Thrust | _ _
Block. I |
Designed & Installed _ _
by others / 1
T
8mm Full Profile
| < Fillet Weld to
- - LB - 8mm Full Profile Bearing plate
c o .
. S mumw%%wum 1200 x 700 x 15mm thk
3 £ % RC Capping Bearing plate fixed to
© & % Beam capping beam.
20 D 6no off.
O 5 L |
8o 1200 x 700 x 15mm thk ) >
< x ; \ . u\.wmm:.:o plate fixed to > A
7 3 capping beam.
— — gt — \ = ._n j%a \\ 6no off
S RC Capping o \ 4no M24 4no M24
~ S\
vﬂdﬁrﬂﬂm SN I " LS Beam | | Grade 8.8 Mromx 12.0mm Grade 8.8
8no M24 bolts Grade 8.8 bolts bolts

Step In Capping Beam /zeA
6475

I\/\ Detail 3

PROPPING GENERAL ARRANGEMENT

Scale 1:100

>

Min embedment 350mm
c/w 125 x 125 x 10mm
washers

DETAIL 3
Scale 1:50

ELEVATION D-D

Scale

1:50

Localised excavation for thrust block

750

END PLATE DETAIL 1

Scale 1:25 - 4no Required

s [0 1400 3
150 4 | °© ° D
150 1/\ ° ° NOO
150 w\ ° °

125 ] ©° °

END PLATE DETAIL 2

NOTES

1. See also SPUK Method Statement.
See also SPUK Design Report.

2. Setting out by others.

See also SPUK Drawing E14307/GA/01

w

HWL on Capping ULS =57 kN/m
SLS =41 kN/m

Full Profile "V" prep
Butt Weld.

608x12.0 CHS

608x12.0 CHS

TYPICAL SPLICE DETAIL
Scale 1:25

Scale 1:25 - 4no Required

END PLATE DETAIL 3

o3l 15/04/15 Revised mo:%%%%%ﬁﬂ:%o@ﬂ of Capping sD
C2| 16/03/15 Revised Following Comments SD
C1| 12/03/15 ISSUED FOR CONSTRUCTION ES
P1| 04/02/15 FIRST ISSUE-FOR REVIEW ES
Client :
WATES CONSTRUCTION
Project :
No. 1 STATION ROAD,
CAMBRIDGE
Drawing Title :
SHEET PILE PROPPING
ARRANGEMENT & DETAILS
Scale @ A1: Drawn by : Checked :
FEB 2015 Shown ES
Drawing No. Revision :
Original Size Af E14307/GA/02 | C3

Scale 1:25 - 6no Required.

Oakfield House, Rough Hey Road,
Grimsargh, Preston. PR2 5AR
Telephone: 01772 794141
Facsimile: 01772 795151

E-Mail: enquiries@sheetpilinguk.com
Web: www.sheetpilinguk.com

PR\ \SHEEY PLLING (UK)L1D




